Graphical Meaning of Linear Transformations. Math 202

Name: “'\O N Section:

1. Let T : R? — R? be defined so that 7'(x) = Ax where

A=[(2) g] NeoT® : T'({:ﬂ) =% [%]4x.[:]
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(b) Sketch where T' sends the box with corners [g], [(1)], [[1)], [1]
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(c) Describe geometrically how the 7' transforms R?
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Graphical Meaning of Linear Transformations. Math 202

Name: Section:

2. Let T : R? — R? be defined so that T(X) = AX where

=l 9 Nere: () = x (o) {f)]
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(a) Compute where T" sends the following vectors.
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(b) Sketch where T" sends the box with corners [8] . [(l)] ; [(1)] i [i] .

(c) Describe geometrically how the 7' transforms R?
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Name: Section: _

3. Let T': R? - R? be defined so that T'(x) = Ax where

03] ot 7)) = xif Jenld]
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(b) Sketch where T" sends the box with corners [8], [(1)], [(1)], l}]
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(c) Describe geometrically how the T' transforms R?

T s &« rfohlho~n of iR
(uu»‘-"\ LQN.QU.UI La 700)
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Name: Section:

4. Let T : R? - R? be defined so that T'(X) = AX where :
% s ()7 1) <Ll

(a) Compute where 7" sends the following vectors.

()= o {b]+ o[1] =[]

-1 [8]+ o [1)= (o)

=061+ 1 [11= [V]
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(b) Sketch where 7" sends the box with corners [g], [(I)J, [(1)] N [i] :
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(c) Describe geometrically how the T' transforms R? 4‘
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5. Let T : R? = R? be defined so that T'(X) = AX where

anfit 8 Wote: T((D: o o542
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(b) Sketch where T sends the box with corners [8] N [(1)] ’ [0] ; [i]
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(c) Describe geometrically how the T transforms R2
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